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HASE 1B 4 BT
£ T M2-34 M2-35 M2-36 M2-37 & Ft
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] L 1 1 1 4
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6,470 = 4 = 1.618 m

(0.82%0.60%) X 7 /4=0.245m°/m

0.245 X  0.22 = 0.05
(0.822-0.60%) X 7 /4% 0.10=0.025m"

0.025 X 3 = 0.08
(0.82°-0.60%) X 7 /4% 0.15=0.037m°

0.037 X 1 = 0.04
(0.82%-0.60%+1.05%-0.90%) X 7 /8 X 0.45=0,107m’

0.107 X 3 = 0.32
(0.82%-0.60%+1.05%-0.90%) X 7 /8 X 0.60=0.143m’

0.143 X 1 = 0.14
(1.05%-0.90%) X 7 /4 X 0.90=0.207m"

0.207 X 2 = 0.41
(1.05%-0.90%) X 7 /4% 1.20=0.276m"

0276 X 2 = 0.55
(1.10%-0.50%) X x /4 0.13=0,098m"

0.098 x 4 = 0.39

A 1.98
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- _ M2-38 ‘ _ M2-33 ‘ -
i@ [l - B I — WA
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N 1 — 1 1 — 1 i
T 0.014 — 0.014 0.060 — 0.020 |#ismEx
50 1 = I 0 — 0 !
Y/ 100 0 - 0 1 — 0 !
150 0 — 0 0 — 1 !
. 300 0 — 1 0 — 1 i
600 1 — 0 1 — 0 !
P 900 0 — 0 1 — 1 S
1500 1 — 1 0 — 0 J
TR 130 L — 1 1 — 1 {
¥ _EFEM2-3800 AFLARA- A8 E . M2-33 R Bl Lo X5
g
M2-38 0.110 + 0.014 + 0.050 + 0.600 = 0.774
M2-33 0.110 + 0.060 + 0.100 + 0.600 = 0.870
L (0.774 + 0.870 )2 = 0.822 m
MIBLER A FLE Thcht =
s
M2-38 0.110 + 0.014 + 0.050 + 0.300 = 0.474
M2-33 0.110 + 0.020 + 0.150 + 0.300 = 0.580
R (0.474 + 0.580 )2 = 0.527 m
sz <R —A TR I
B Sy
TS (0.82%-0.60%) X 7 /4=0.245m"/m

SRARY L 50

gmaE1) 7 100

FEE 600

0.245 X( 0.014 + 0.060) = 0.02
(0.82%-0.60%) X = /4% 0.05=0,012m"

0.012 x( 1 + 0 )= 0.01
(0.82*-0.60%) X = /4X0.10=0,025m"

0.025 x( 0 + 1 )= 0.03
(0.82°-0.60°+1.05"0.90%) X = /8 X 0.60=0.143m"

0.143 x( 1 + 1 )= 029

et 0.35 °
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